Manuals+ — User Manuals Simplified.

BODYCRAFT F710 Arm Curl Attachment Owner’s Manual

Home » BODYCRAFT » BODYCRAFT F710 Arm Curl Attachment Owner’s Manual ™=

Contents

1 BODYCRAFT F710 Arm Curl Attachment
2 Assembly Parts List
3 THE FOLLOWING TOOLS ARE RECOMMENDED FOR
ASSEMBLY:
4 Product Assembly
5 Parts Exploded View & Detailed Parts List
6 Documents / Resources
6.1 References
7 Related Posts

BODYCRArT

BODYCRAFT F710 Arm Curl Attachment



https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/bodycraft
https://manuals.plus/bodycraft/f710-arm-curl-attachment-manual.pdf

Assembly Parts List

M|
©

SPRING
WASHER (9)

ARM CURL PAD (3)

59 ©
ADJ. TUBE (1)

FLAT
WASHER (4)
PULL-PIN LOCKING @:-
KNOB (6)

HEX BOLT (5)

BAR CATCH - Assembly

(2-ASM)

Part # Assembly Parts List QTY
F710-001 ADJ.TUBE 1
F710-002-ASM BAR CATCH — Assembly 1
F710-003 ARM CURL PAD 1
F710-006 PULL-PIN LOCKING KNOB 1
Part # Assembly Hardware QTY
F710-004 FLAT WASHER, 3/8" — BLK P
F710-005 HEX BOLT, 3/8" x 1-1/4" — BLK 2
F710-009 SPRING WASHER, 3/8" — BLK 2

ool o T o Ve b o Moeelegel 0 b el o 0ol

((J_ 1111)112 34 1™ 1a 12 32 2" 14 112 32 3" 1a 112 34 4™ 14 112 34 5™ 14 12 32 6"
inc



THE FOLLOWING TOOLS ARE RECOMMENDED FOR ASSEMBLY:

/

SOCKET SET 3/8 DRIVE OPEN & CLOSED WRENCH TORQUE WRENCH 3/8
for 9/16 SAE for 9/16 SAE DRIVE

Product Assembly

Place all parts from the box in a cleared area and position them on the floor in front of you. Remove all packing
materials from your area and place them back into the box. Do not dispose of the packing materials until assembly

is completed.

STEP 1a: Pull-Pin Locking Knob Recommended Tools

Screw in the PULL-PIN LOCKING KNOB (8) on to the BAR o > =
CATCH - Assembly (2-ASM) about 2 full turns. » P
. 9/16 SOCKET &
NOTE: DO NOT FULLY TIGHTEN 9/16 WRENCHES e ESCTERETON
S STEP 1b: Bar Catch
\%\\)

Attach the BAR CATCH - Assembly
~ (2-ASM) into the ADJ. TUBE (1) by

pulling out on the PULL-PIN

LOCKING KNOB (6) and siding up

@—— / | the tube.

LOOSEN, THEN PULL

P ACAUTION
: i e Pinch Point
* : - o Keep hands clear
=5 p of edges
RELEASE, THEN |_ 2
TIGHTEN TO SECURE '

STEP 1c: Bar Catch
Attach the ARM CURL PAD (3) to the ADJ. TUBE (1) using:

o Two HEX BOLTS, 3/8" x 1-1/4" (5)
» Two SPRING WASHERS, 3/8" (9)
« Two FLAT WASHERS, 3/8" (4)

STEP 1d: “Torque Time”
Tighten all Step 1c Bolts at this time to the Recommended Torque Specs of 5 ft-Ibs (+/- 1Ib).



DJ. TUBE (1) using:

/

5 ft-lbs
(+/- 1 Ibs)



Parts Exploded View & Detailed Parts List

-

fd" .‘\.
SO © N
9

! 4
|
- s
\ |E - )
A
!
\ 5 ;
b .
b J'

The PULL-PIN LOCKING

HNOB musl ba fully

sngaged mio the hole
bafess rial

LOOSEN, THEM PULL

w

RELEASE, THEN
| TIGHTENM T0 SECURE J

Part # Detailed Parts list aTy
F710-001 [ADJ.TUBE

F710-002 [BAR CATCH

F710-003 [ARM CURL PAD

F710-004 [FLAT WASHER, 3/8" - BLK
F710-005 [HEX BOLT, 378" x 1-1/4" - BLK

F710-006 [PULL-PIN LOCKING KNOB
F710-007 [RUBBER PAD

F710-008 [SPACER CAP

F710-009 [SPRING WASHER, 3/8" - BLK

Al M| =) == ==

BRIl RS | = | =

Documents / Resources



BODYCRAFT

BODYCRAFT F710 Arm Curl Attachment [pdf] Owner's Manual

F710 Arm Curl Attachment, F710, Arm Curl Attachment

BODYCRAFT F710 Arm Curl Attachment [pdf] Owner's Manual
F710 Arm Curl Attachment, F710, Arm Curl Attachment

References

. Home page - BODYCRAFT
. Product Registration - BODYCRAFT

Manuals+,



https://manuals.plus/m/c8e62aaf22b3c5e9654cd9da0160ef6173c845d4cf6f39dbda6001965d92b327
https://manuals.plus/m/c8e62aaf22b3c5e9654cd9da0160ef6173c845d4cf6f39dbda6001965d92b327_optim.pdf
https://manuals.plus/m/7d568ed5cb082afdeac7fa8bd52ffadfbd54a0c4ead9b7a17cde47c160eb556c
https://manuals.plus/m/7d568ed5cb082afdeac7fa8bd52ffadfbd54a0c4ead9b7a17cde47c160eb556c_optim.pdf
http://www.bodycraft.com/
https://www.bodycraft.com/product-registration/
https://manuals.plus/

	BODYCRAFT F710 Arm Curl Attachment Owner’s Manual
	BODYCRAFT F710 Arm Curl Attachment
	Assembly Parts List
	THE FOLLOWING TOOLS ARE RECOMMENDED FOR ASSEMBLY:
	Product Assembly
	Parts Exploded View & Detailed Parts List
	Documents / Resources
	References



